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Libre  ( e = 54 environ )
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Plus agité  e = 76
27

28

29

48

48

48

48

38

38

38

38

38

38

38

38

58

58

58

58

58

58

58

58

& ? –—–
mf

& —–

&
3ème

? >.
f

œ

mf°
&

f ff
—–

°

&
ff

serré∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏

—––— ?

f
f

&

?
ff

–—
°

f f

&

& —–

ff

& —– ø
?

ff

&

&
serré

ff

–——– #
–—

&
ff

∏∏∏∏∏∏∏
∏∏∏∏∏∏∏

∏∏∏∏∏∏∏
∏∏∏∏∏∏

—––— ?
f

&
ff

œ# œ# œ œ œ

–— ?

°

&
serré

ff

∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏

—–—–

œ œ# œ# œ

”“
? .

œ mf

&
fff

serré”“

&
ff

—–—– ?
f

œ œ#

&
ff

3ème°

?

f

—––
mf

°

&
fff

∏∏∏∏∏∏∏
∏∏∏∏∏∏∏

∏∏∏∏∏∏∏
∏

°

&
–— serré

ff

––—— ?

f
f

&
fff

? –—
ø ff

∏∏∏∏∏∏∏
∏∏∏∏∏∏∏

∏∏∏∏∏

—–
f f

&
fff°

œœœœ<#><#> R œœœ#
r ‰ œ œ œ.#

Kr ® œ œ# œ# œ œ>

œœœœ<#><#> r
œ.# œ. œ. œ. œ. œ. œ. œ. œ. œ. œ. œ.

Kr ®
œ œ# œ# œ

≈
œœœœ.>
##
r ‰ Ù œ# œ œ# œ. ≈ œ# j œ.R

≈ œœ.>#
r ‰ Ù œ# œ œ# œ. ≈

œ# j œ.
r

‰ ®
œœœœ>## ....
r

œœœœ œœœœ.>
≈

‰ ® œœ># ..
r

œœ œœ.>
≈

œœœœ
.>## R ®

œ>
J

œœœœ.>
##
r ® œ œ œ œ œ#

œœœœ
.>## R œ# œ œ œ œ>

R œ. œ. œ œ. œ. œ. œ. œ. œ. œ. œ. œ.RÔ ®
œœœ
>U
R

œœœœ.>
##
r œ œ œœœ

.>
#R

‰
œ# œ œ.>#

Kr ® œœœ>U## R

≈.
œœœœ.>
##
Kr ‰ Ù œ# œ œ# œ. ‰ œ# j œ.R

œœœœ
>U## R

≈. œœ.>#
Kr ‰ Ù œ# œ œ# œ. ‰

œ# j œ.
r

œœœœ
U
>##
r

=

=

24



{{
{
{

ralentir -------------------------------------------------------------------------

30

Tranquille  e = 54

Libre  ( e = 54 environ )

32

38

38

38

38

38

38

38

38

38

38

38

&

relever les touches une à une“< >
(

p

) #

&
pp

–Ÿ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~
?

°

&
relever les touches une à une

& ∑

? ∑

3ème

–—°

& . .
pp

∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏∏
––—— p

— # – rubato

œ# œ>n?
pp
—– p mp

œ œ>#

°
&

p

œ

—
°

?

?

3ème

–—°
&

p

——–– rubato

œ# œ œ œ
p

œ#
mp

Ÿ~~~~~~~~~~~~~~

p

Ÿ~~~~~~~~~~ —
p

––—
&

p
—–—– p° ø ø p

∏∏∏∏∏∏∏
∏∏∏∏∏∏∏

∏∏∏∏∏∏∏
∏∏∏∏

—–
?

—– –—

OOO OOO OO O ‰
œœ. œœ.# œ

.œ œ# œ# œ# œ# œ# œ# œ#

OOO<#><#> OOO OO O ‰ œ# œ# œ# œ- œ œRÔ ≈.

OOOO<#><#> OOOO OOO OO O OJ OR ≈ Œ

OOOO<#><#> OOO OO O Œ ‰

OO
U

œœ#
j
≈ œœœœ

>## ‰≈ œ# œÙ œ>n . œ œ> ‰ œ# œ œn ‰≈

≈ œœ.>#
‰≈ ‰ œ œ# ‰ ®. œ# œ œ# œ# ‰≈

OO
U

œ#
œj œœœœ

.># ≈ ‰≈ Ù œ# œ œ
œœ# œ œn œ># œœ œ># œ œ#œ. œ.# ≈ ≈ œœœ.>

n# ‰≈

œ# jœ œœœœ.>#
≈ ‰≈ ‰ ‰ ≈

œœ.>#
‰≈

OO
U

=

25



{{
33 38

38

38

38

38

38

& –—–
laisser résonner jusqu'à extinction du son

?
sffz

––—
°? –—

& ––——? laisser résonner jusqu'à extinction du son

& ?

ppp
—––—

? –—
°

œ# œ# œ

œœœ
U
># ...

OO
U

ŒU
œœ#
j
œœ#

ŒU
œœœœ
U
#b
j

OO
U

26


